This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 12 - Annandale East and Eskdale

4,108

3

1,028

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Karen CARRUTHERS	Scottish Conservative and Unionist	1,140
Archie DRYBURGH	Scottish Labour Party	880
Kirsten HERBST-GRAY	Scottish Liberal Democrats	137
Denis Raymond MALE	Independent	633
Stephen Paul MATTOCK	Scottish Green Party	107
Ron TAIT	Scottish Conservative and Unionist	614
Sylvia WILLMOT	Scottish National Party (SNP)	597
	Total	4,108

Candidate Karen CARRUTHERS Elected with 1,140 votes, being in excess of the quota of 1,028

This report contains the transfers results.

Stage 2 - Surplus of Karen CARRUTHERS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie DRYBURGH	86	0.09824	8.44864
Transfer to Kirsten HERBST-GRAY	47	0.09824	4.61728
Transfer to Denis Raymond MALE	62	0.09824	6.09088
Transfer to Stephen Paul MATTOCK	13	0.09824	1.27712
Transfer to Ron TAIT	805	0.09824	79.08320
No further preference	118	0.09824	11.59232
Not transferred due to rounding			0.00640
	Total		112.00000

This report contains the transfers results.

Stage 3 - Exclusion of Stephen Paul MATTOCK

108.27712

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie DRYBURGH	20	1.00000	20.00000
Transfer to Kirsten HERBST-GRAY	18	1.00000	18.00000
Transfer to Denis Raymond MALE	10	1.00000	10.00000
Transfer to Ron TAIT	6	1.00000	6.00000
Transfer to Sylvia WILLMOT	43	1.00000	43.00000
Transfer to Archie DRYBURGH	2	0.09824	0.19648
Transfer to Kirsten HERBST-GRAY	2	0.09824	0.19648
Transfer to Ron TAIT	6	0.09824	0.58944
Transfer to Sylvia WILLMOT	1	0.09824	0.09824
No further preference	10	1.00000	10.00000
No further preference	2	0.09824	0.19648
Not transferred due to rounding			0.00000
	Total		108.27712

Report Name: Transfers_V0001_Ward-12---Annandale-East-and-Eskdale_06052022_171051.pdf Created: 06-5-2022 17:10:51

This report contains the transfers results.

Stage 4 - Exclusion of Kirsten HERBST-GRAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie DRYBURGH	63	1.00000	63.00000
Transfer to Denis Raymond MALE	37	1.00000	37.00000
Transfer to Ron TAIT	12	1.00000	12.00000
Transfer to Sylvia WILLMOT	20	1.00000	20.00000
Transfer to Archie DRYBURGH	15	0.09824	1.47360
Transfer to Denis Raymond MALE	14	0.09824	1.37536
Transfer to Ron TAIT	11	0.09824	1.08064
No further preference	23	1.00000	23.00000
No further preference	9	0.09824	0.88416
Not transferred due to rounding			0.00000
	Total		159.81376

This report contains the transfers results.

Stage 5 - Exclusion of Sylvia WILLMOT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Archie DRYBURGH	287	1.00000	287.00000
Transfer to Denis Raymond MALE	109	1.00000	109.00000
Transfer to Ron TAIT	12	1.00000	12.00000
Transfer to Archie DRYBURGH	1	0.09824	0.09824
Transfer to Denis Raymond MALE	1	0.09824	0.09824
Transfer to Ron TAIT	2	0.09824	0.19648
No further preference	252	1.00000	252.00000
No further preference	6	0.09824	0.58944
Not transferred due to rounding			0.00000
	Total		660.98240

This report contains the transfers results.

Stage 6 - Surplus of Archie DRYBURGH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis Raymond MALE	424	0.18426	78.12624
Transfer to Ron TAIT	142	0.18426	26.16492
Transfer to Denis Raymond MALE	22	0.01810	0.39820
Transfer to Ron TAIT	40	0.01810	0.72400
No further preference	684	0.18426	126.03384
No further preference	42	0.01810	0.76020
Not transferred due to rounding			0.00956
	Total		232.21696

This report contains the transfers results.

Stage 7 - Exclusion of Ron TAIT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Denis Raymond MALE	278	1.00000	278.00000
Transfer to Denis Raymond MALE	72	0.18426	13.26672
Transfer to Denis Raymond MALE	245	0.09824	24.06880
Transfer to Denis Raymond MALE	11	0.01810	0.19910
No further preference	366	1.00000	366.00000
No further preference	70	0.18426	12.89820
No further preference	579	0.09824	56.88096
No further preference	29	0.01810	0.52490
Not transferred due to rounding			0.00000
	Total		751.83868